Effect of location and fertilization on fruit yield and quality of some tomato cultivars

Badr¹, L.A.A,F.A. Abo-Sedera¹ and Ghada,U.Radwan² ¹Horti.Dept., Fac., Benha Univ.,Moshtohor, Egypt.

²Assistant Researcher, Central Laboratory for Agricultural Climate (CLAC), Agricultural Research Center

Corresponding authors: lotfy.badr@fagr.bu.edu.eg

ABSTRACT

Two open field experiments were performed during the two successive summer seasons of 2013and 2014 at El- Bosily,El-Behaira government and El-Fayuom, to investigate the growth and productivity of two tomato cultivars under different climatic conditions and different levels of NPK fertilizers. The experimental treatments were arranged by applying the split split plot design where, location treatments were arranged in the main plots, tomato cultivars treatments were arranged in the sub plots and fertilizer levels were arranged in the sub sub plots. Cultivated the tomato plants cv. Super Strain B in El Fayoum location combined with using 100% level from the recommended N.P.K doses exhibited the highest values of all fruit yield characteristics expressed as number of fruits/plant, fruit yield/ plant, total fruit yield/ fed., fruit/weight, length, diameter, shape and fruit set% compared with the other interaction treatments in El Behaira location gave the lowest values. Meanwhile, cultivating the tomato plants in El Behaira by using cv. Super Strain B and 120 % from the recommended NPK doses exhibited the highest values of plant (Nitrogen%, Phosphorus%, Potassium%, total carbohydrates, T.S.S and total acidity, compared with the other interaction treatments during the two seasons. On the contrary, using Cv. Castle Rock and 80% from the recommended NPK dose in El Fayoum location gave the lowest values.

Keywords: Location, NPK fertilizers, fruit yield, quality, tomato cultivars.

Introduction

Tomato can grow under a wide range of temperature however; fruit set is limited in a narrow range. Relatively low or high temperature lead to poor fruit set. The critical factor in tomato fruit setting is the night temperature, the optimal range being 15-20 \degree (Went, 1945). Fruit set is also low when the average maximal night/day temperature is above 32° C and the average minimal night temperature is above 21 °C (Moore and Thomas, 1952).

Plant production in developed countries has increased due to the use of high yielding cultivars and enhanced consumption of inorganic fertilizers, especially the nitrogenous once. Tomato is one of the most important horticultural crops for which a large amount of nitrogen is applied, (**Parisi** *et al.* **2006**). With the rapid increase in this crop, we needs new hybrids and cultivars with high yield, quality and tolerance to stress environments.

The excessive use of nitrogen fertilizers represents the major cost in plant production and creates pollution of agro ecosystem, as well as deterioration of soil fertility (**Fisher and Richter**, **1984**).

There is a widely-held scientific conviction that the global climate is changing as a result of the combined anthropogenic forcing due to greenhouse gases, aerosols, and land surface changes. Many evidences have concluded with a high degree of probability that human activities have exerted a substantial net warming influence on climate since 1750 (**IPCC**, 2007). Recent climatological studies found that the global surface air temperature increased from 1850 to 2005 by 0.76° C. Moreover, the linear warming trend over the last 50 years is recorded by 0.13° C per decade (**IPCC**, 2007).

The present investigation was imposed to study the impact of climate change on tomato productivity, and to find out the best suitable adaptation option to mitigate the negative impacts of climate change on tomato production.

In order to achieve this objective, several sequence steps were followed including selective of measure current data of tomato crop through field experiment, choses two governorates (Behira and Faioum), captivation two tomato cultivars (supper strain B and castle Rock), three fertilizer levels were used and finally examining the different adaptation options to mitigate the negative impacts of climate changes on tomato production.

Materials and Methods

2. Experimental layout:

Two open field experiments were performed during the two successive summer seasons of 2013 and 2014 at El- Bosily, EL- Behaira government and El-Fayuom. To investigate the growth and productivity of two tomato cultivars under different climatic conditions and different levels of NPK fertilizers. Experiment farm sites are sandy soil in texture with average pH of 7.85, 7.82 and EC of 1.30, 1.33 ds/m, of both experimental yiers at EL-bosily and EL-Fayuom respectively. Chemical analysis of soil is shown in Table 1 as average for both seasons of study.

⁽ARC)

	DU	EC		Anions	(Meq/L)	Cations (Meq/L)				
	РΠ	ds/m	Cl-	HCO3 ⁻	CO3	SO4	Na ⁺	\mathbf{K}^+	Ca++	Mg^{++}
El- Bosily	7.85	1.30	2.3	2.7	-	39.8	12.7	1.2	21	12
El- Fayoum	7.82	1.33	2.1	2.7	-	33.3	11.8	0.2	24	10.3

Table 1. Chemical analysis of soil.

2.1. Nursery materials:

Seeds of tomato (*Solanum Lycopersicom L.*) Castle Rock and Super strain-B were sown on 1st of February during both seasons of 2013 and 2014, in multi-pot transplant trays filled with mixture of peat-moss and vermiculite media (1:1 v/v). Chemical fertilizers and fungicides were added to the mixture according to the recommendation of the Ministry of Agriculture. After sowing, trays were covered by black plastic mulching for four days, then moved to high tables and were cared by irrigation, fertilization and pest management in the nursery.

2.2. Transplanting:

After 45 days from seed sowing, transplants were set up in to the field on March 17^{th} during both seasons of 2013 and 2014 on the two sides of ridges 1 m in width and 10 m in length. The distance between transplants was 50 cm apart. The area of the experimental plot was 10m^2 i.e. 1/400 of feddan.

2.3. The experimental treatments:

This experiment included 12 treatments which were the combinations of two cultivars, two locations and three levels from NPK fertilizers as follows:

2.3.1. tomato cultivars:

Two cultivars of tomato plants were tested in each field (El- Bossily and El- Fayoum).

1-Castle Rock cultivar.

2-Super Strain B cultivar.

2.3.2. Locations:

Two fields were used in this study:

1- El- Bossily experimental farm, El behaira gavernorate, Rashed,Egypt.

2- El- Fayoum.

2.3.3. Fertilizer levels:

Three levels from nitrogen, phosphorus and potassium were used in this experiment:

1- 80% from the recommended doses (134.4,134.4,100.8 Kg /Fed NPK).

2---100% from the recommended doses (168,168,126 Kg /Fed NPK).

3- 120% from the recommended doses (201.6,201.6,151.2 Kg /Fed NPK).

Ammonium sulphate (20.5%N), calcium super phosphate (16.5% P_2O_5) and potassium sulphate (48-52% K₂0) fertilizers were used as sources for nitrogen, phosphorus and potassium, respectively.

2.4. Climatic conditions:

The micro climate is a major factor in this study, thus the following data were recorded:

2.4.1. Air temperature, relative humidity% and radiation:-

Maximum, minimum and average air temperature (c°) , relative humidity% and radiation of each of the two locations were performed by central laboratory for agriculture climatic change stations; Egypt is presented in Table 2.

2.4.2. Soil temperature:

Maximum, minimum and average soil temperature was measured as follows. (Table, 3).

2.5. Experimental design:

The experimental treatments were arranged by applying the split split plot design where, Location treatments were arranged in the main plots, tomato cultivars treatments were arranged in the sub plots and fertilizer levels were arranged in the sub sub plots. All treatments were applied with three replicates. All other agricultural practices were carried out as commonly followed in the district.

2.6. Data recorded:

2.6.1. Yield and its components:

At red stage of maturity (75days from transplanting) fruits were harvested and recorded as follows:- Number of fruits per plant, yield per plant and total fruit yield per feddan

2.6.2. Fruit characters:

Representative samples of 10 fruits from each experimental plot at marketable stage were collected to determine the averages of the following:

2.6.3. Physical fruit characters

Average fruit weight, Fruit length, Fruit diameter and fruit shape index (Fruit length /Fruit diameter).

2.6.4. Chemical fruit properties:

• Total soluble solids (T.S.S) %: was determined using Abbee refractometer (A.O.A.C., 1984).

• Total acidity was determined as mg/ liter of juice by titration with NaOH as described in the A.O.A.C.(1990)

• Total carbohydrates:

The carbohydrates content was determined on fruit dry weight base according to **A.O.A.C.** (1990).

• Total N, P and K content:

Dry samples of fruits were grounded and then 0.2 g of each was digested in sulfuric and percloric acids at ratio 2:1 by volume and then used for N,P,K determination according to the same methods described in case of plant foliage.

2.7. Statiscal analysis procedures:

The obtained data were statistically analyzed using the analysis of variance method according to **Snedecor and Cocharn (1980)**. L.S.D values at the 5% level of probability was used to compare means of treatments.

					20	013					2014									
			El- Fa	youm				El- B	osily				El- Fay	youm				El- Bo	osily	
Mon	Air	tempe	rature	Relati		Air t	emper	rature	Relati		Air	tempe	rature	Relati		Air	temper	rature	Relati	
ths	ma x	mi n	aver age	ve humi dity	Radiat ion	max	mi n	aver age	ve humi dity	Radiat ion	ma x	mi n	aver age	ve humi dity	Radiat ion	ma x	mi n	aver age	ve humi dity	Radiat ion
Mar ch	23. 45	8.1 2	15.78	58.87	16.26	21.8 5	8.6 4	15.24	80.36	17.36	30. 31	10. 08	۲۰٫۱ ۹	59.30	15.75	23. 47	9.8 7	ז <u>י</u> ז א	78.12	15.69
April	31. 36	13. 04	22.2	49.26	16.22	27.0 8	12. 09	19.58	74.40	18.67	31. 47	12. 61	۲۲ _. ۰ ٤	49.63	16.46	25. 29	11. 09	۱۸ <u>۱</u> ۹	75.36	18.63
May	34. 89	17. 52	26.20	42.67	16.90	30.6 6	15. 62	23.14	73.77	20.98	38. 8	18. 4	۲۸٫٦	42.90	16.13	29. 91	16. 15	۲۳ <u>۰</u> ۳	77.58	22.39
June	37. 96	20. 95	29.45	44.53	17.65	31.9 1	19. 59	25.75	80.23	22.07	38. 68	20. 93	۲۹٫۸	43.80	17.09	31. 70	18. 80	۲۰ _. ۲ ٥	72.30	22.90
July	40. 58	23. 21	31.89	47.09	20.10	33.8 4	22. 13	27.98	80.12	20.99	38. 36	29. 87	۳٤١ 2	48.08	15.29	29. 90	21. 5	٢٥.٧	81.10	19.50

Table 2. Monthly Maximum, minimum and average air temperature (c°) as well as relative humidity% and radiations at El- Bosily and El- Fayoum region during the two growing seasons.

Table 3: Monthly Maximum, minimum and average soil temperature at El- Bosily and El- Fayoum location region during the two growing seasons.

		2013						2014						
months	El- Fayoum				El- Bosily			El- Fayou	m	El- Bosily				
	max	min	average	max	min	average	max	min	average	max	min	average		
March	18.49	14.97	16.73	25.10	10.53	17.82	25.61	24.2	24.91	29.14	11.44	20.29		
April	25.48	20.72	23.10	34.66	15.51	25.09	29.21	27.75	28.48	33.70	13.31	23.51		
May	30.42	25.23	27.83	39.16	19.20	29.18	33.94	32.39	33.17	39.18	17.10	28.14		
June	31.38	27.15	29.27	40.74	23.17	31.96	36.59	35.16	35.88	41.20	20.70	30.95		
July	38.17	34.07	36.12	43.13	25.49	34.31	39.74	36.32	38.03	44.82	21.00	32.91		

			Fruite		Total vield	Fruit	fruit	Fruit	Fruit	
Treatments			Fiuits No /plant	Yield/plant (kg)	(ton/fod)	weight	length	diameter	shape	Fruit set %
			Noz plant		(ton/ieu)	(gm)	(cm)	(cm)	index	
Location	EL-Behaira		9.96	1.38	17.34	129.37	6.17	6.00	1.03	75.84
Location	EL-Fayoum		10.61	1.50	18.89	132.38	6.78	6.63	1.02	77.75
L.S.D			0.60	0.05	0.62	**5.40	0.33	0.34	**0.01	**4.70
Cultivor	Super_strain B		10.94	1.55	19.57	133.11	6.97	6.81	1.02	79.84
Cultivar	Castle Rock		9.63	1.32	16.67	128.64	5.98	5.83	1.03	73.75
L.S.D			0.60	0.05	0.62	**50.30	0.33	0.34	**0.01	4.69
	80 % R.D		9.63	1.22	15.34	118.17	6.18	6.00	1.03	72.53
Fertilizer	100% R. D		11.37	1.69	21.27	143.98	6.69	6.57	1.02	79.83
	120% R. D		9.86	1.41	17.74	130.48	6.55	6.38	1.03	78.03
L.S.D			0.74	0.06	0.76	6.49	0.41	0.41	**0.01	5.74
EL Dohoino	_Super_stra	in B	10.64	1.48	18.70	131.38	6.81	6.63	1.03	79.27
EL-Denaira	Castle Roc	k	9.28	1.27	15.98	127.37	5.52	5.37	1.03	72.42
EL Foroum	_Super_stra	in B	11.23	1.62	20.43	134.84	7.12	6.98	1.02	80.42
EL-Fayoum	Castle Roc	k	9.98	1.38	17.35	129.91	6.44	6.29	1.02	75.08
L.S.D			0.85	0.07	0.87	**7.50	0.47	0.47	**0.01	6.64
	80%		9.40	1.18	14.86	116.95	5.82	5.63	1.03	71.22
EL-Behaira	100%		10.98	1.61	20.31	142.12	6.35	6.22	1.02	78.78
	120%		9.50	1.34	16.87	129.05	6.33	6.15	1.03	77.53
	80%		9.85	1.26	15.83	119.38	6.55	6.37	1.03	73.85
EL-Fayoum	100%		11.75	1.77	22.24	145.83	7.03	6.92	1.02	80.88
	120%		10.22	1.48	18.61	131.92	6.77	6.62	1.02	78.52
L.S.D			1.04**	0.08	1.07	9.18	0.58	0.58	**0.01	**8.13
	80%		10.27	1.31	16.45	120.70	6.73	6.55	1.03	73.47
Super_strain H	B 100%		12.08	1.83	23.00	146.68	7.17	7.03	1.02	86.15
	120%		10.47	1.53	19.25	131.95	7.00	6.83	1.03	79.92
	80%		8.98	1.13	14.23	115.63	5.63	5.45	1.03	71.60
Castle Rock	100%		10.65	1.55	19.55	141.27	6.22	6.10	1.02	73.52
	120%		9.25	1.29	16.23	129.02	6.10	5.93	1.03	76.13
L.S.D			1.04	0.08	1.07	9.18**	0.58	0.58	0.01*	8.13**
		80%	10.13	1.28	16.15	119.43	6.53	6.33	1.03	73.07
EL-Behaira	Super_strain B	100%	11.80	1.75	22.04	144.50	6.97	6.83	1.02	85.40
		120%	10.00	1.42	17.91	130.20	6.93	6.73	1.03	79.33

Table 4. Effect of different locations, Cultivars, fertilizer levels treatments and their interactions on fruit yield components of tomato plants in the first season 2013.

		80%	8.67	1.08	13.56	114.47	5.10	4.93	1.03	69.37
	Castle Rock	100%	10.17	1.47	18.57	139.73	5.73	5.60	1.02	72.17
		120%	9.00	1.26	15.82	127.90	5.73	5.57	1.03	75.73
		80%	10.40	1.33	16.75	121.97	6.93	6.77	1.03	73.87
	Super_strain B	100%	12.37	1.90	23.95	148.87	7.37	7.23	1.02	86.90
EL Eavour		120%	10.93	1.63	20.59	133.70	7.07	6.93	1.02	80.50
EL-Fayouin		80%	9.30	1.18	14.90	116.80	6.17	5.97	1.03	73.83
	Castle Rock	100%	11.13	1.63	20.53	142.80	6.70	6.60	1.02	74.87
		120%	9.50	1.32	16.63	130.13	6.47	6.30	1.03	76.53
L.S.D			1.47	0.12	1.51	12.98**	0.82	0.82	0.02**	11.50**

**mean: non-significant.

Table 5. Effect of different locations, Cultivars, fertilizer levels treatments and their interactions on fruit yield components of tomato plants in the second season 2014.

Treatments	S	Fruits No⁄ plant	Yield/plant (kg)	Total yield (ton/fed)	Fruit weight (gm)	Fruit length (cm)	Fruit diameter (cm)	Fruit shape index	Fruit set %
Location	EL-Behaira	8.68	1.18	14.83	125.99	5.84	5.64	1.04	73.62
Location	EL-Fayoum	9.09	1.24	15.59	128.20	6.52	6.34	1.03	75.53
L.S.D		0.48**	0.04	0.54	6.50**	0.31	0.31	0.01*	6.6**
Cultivor	Super_strain B	9.12	1.27	15.97	129.86	6.57	6.35	1.04	77.97
Cultival	Castle Rock	8.66	1.15	14.46	124.33	5.79	5.63	1.03	71.19
L.S.D		0.48**	0.04	0.54	5.32**	0.31	0.31	0.01*	6.33
	80 % R D	8.05	1.02	12.81	115.78	5.94	5.75	1.03	70.07
Fertilizer	100% RD	10.29	1.49	18.76	138.71	6.35	6.19	1.03	77.36
	120% RD	8.33	1.12	14.07	126.80	6.26	6.03	1.04	76.31
L.S.D		0.58	0.05	0.66	6.51	0.38	0.38	0.02*	7.75**
EL-Behaira	Super_strain a B	8.92	1.23	15.45	128.52	6.32	6.09	1.04	75.11
	Castle Rock	8.44	1.13	14.22	123.46	5.37	5.20	1.03	71.19
EL-Fayour	Super_strain n <u>B</u>	9.31	1.31	16.49	131.20	6.82	6.61	1.03	79.88
	Castle Rock	8.88	1.17	14.69	125.20	6.22	6.07	1.03	71.19
L.S.D		0.67**	0.06	0.76	7.53**	0.44	0.44	0.02*	8.96**
	80%	7.92	1.00	12.59	114.72	5.52	5.33	1.03	69.82
EL-Behaira	a 100%	10.03	1.44	18.12	138.05	6.10	5.93	1.03	75.30
	120%	8.10	1.10	13.80	125.20	5.92	5.67	1.05	74.33

		80%		8.18	1.03	13.04	116.83	6.37	6.17	1.03	70.32
EL-Fayou	ım _	100%		10.55	1.54	19.40	139.37	6.60	6.45	1.02	79.42
		120%		8.55	1.14	14.34	128.40	6.60	6.40	1.03	76.87
L.S.D				0.82	0.08	0.93	9.22**	0.54	0.54	0.02*	10.97**
	_	80%		8.25	1.06	13.38	118.55	6.50	6.28	1.04	72.50
Super_str	ain B	100%		10.48	1.56	19.72	142.68	6.62	6.45	1.03	83.12
		120%		8.62	1.18	14.82	128.35	6.60	6.32	1.05	76.87
		80%		7.85	0.97	12.24	113.00	5.38	5.22	1.03	67.63
Castle Ro	ck –	100%		10.10	1.41	17.81	134.73	6.08	5.93	1.03	71.60
		120%		8.03	1.06	13.32	125.25	5.92	5.75	1.03	74.33
L.S.D				0.82**	0.08	0.93	9.22**	0.54	0.54	0.02*	10.97**
	G	• • •	80%	8.13	1.04	13.10	117.13	6.23	6.03	1.03	70.27
	Super_s	rain	100%	10.23	1.51	18.97	141.57	6.40	6.20	1.03	81.23
EL-	D		120%	8.40	1.13	14.28	126.87	6.33	6.03	1.05	76.67
Behaira			80%	7.70	0.96	12.07	112.30	4.80	4.63	1.04	69.37
	Castle R	ock	100%	9.83	1.37	17.27	134.53	5.80	5.67	1.02	69.37
			120%	7.80	1.06	13.31	123.53	5.50	5.30	1.04	74.83
	G	• • •	80%	8.37	1.08	13.67	119.97	6.77	6.53	1.04	74.73
	Super_s	rain	100%	10.73	1.62	20.46	143.80	6.83	6.70	1.02	85.00
EL-	В		120%	8.83	1.22	15.35	129.83	6.87	6.60	1.04	79.90
Fayoum			80%	8.00	0.99	12.41	113.70	5.97	5.80	1.03	65.90
	Castle R	ock	100%	10.37	1.46	18.34	134.93	6.37	6.20	1.03	73.83
			120%	8.27	1.06	13.32	126.97	6.33	6.20	1.02	73.83
L.S.D				1.17**	0.11	1.32	13.03**	0.76	0.77	0.03*	15.51**

** mean : non significant .

Results and Discussion

4. Effect of different locations, Cultivars, fertilizer levels treatments and their interactions on fruit yield components of tomato plants:

Data recorded in Tables 4 and 5 illustrate the effect of different locations, cultivars of tomato and fertilizers level as well as their interaction on fruit yield and its components of tomato plants expressed as: number of fruits/plant, yield /plant, total fruit yield/fed, average weight, length and diameter of fruit as well as fruit shape index and fruit set percentage during both seasons of study 2013 and 2014.

1. Effect of different locations.

Data in Tables 4 and 5 indicate that there were significant differences in number of fruits/plant, fruit yield /plant, total fruit yield/fed, average weight, length and diameter of fruit among the different tested location (El Behaira and El Fauom) during the first season of study. On the contrary, there were no significant differences for fruit weight, fruit shape index and percent of fruit set among the different tested location (El Behaira and El Fauom) during the same period of study.

While in the second season there were significant differences in yield /plant, total fruit yield/fed. and average fruit length and diameter, meanwhile there were no significant differences for number of fruits/plant, fruit weight, fruit shape and fruit set%, among both tested location (El Behaira and El Fauom) during the second season of study.

During both seasons of study cultivation both cultivars at El Fayuom gave the highest values of yield /plant, total yield/fed, fruit length and diameter. While El Behaira location gave the lowest values for the above mentioned traits, with significant differences among them during the two experimental seasons.

The favorable effect of El- Fayuom location concerning all studied fruit yield characteristics as compared with El Behaira location during both seasons of this study might be due to the favorable micro climate condition such as:- higher of both maximum as well as minimum air temperature, lower percentages of air relative humidity and or lower average radiation as lux meter throughout the growing period of tomato plants grown under the open field condition.

Obtained results are in accordance with those of **Elzbieta** *et al.* (2016) who studied the effect of temperature and precipitation conditions on the growth and development dynamics of five cultivars of processing tomato. They stated that temperature and precipitation conditions, affect yield, quality growth and development dynamics of processing tomato. The number of flowers and fruits formed per inflorescence was negatively correlated with temperature. Excessive precipitation during the entire growing period led to formation of smaller fruits. The length and width of the fruit were negatively correlated with the frequency of precipitation in all stages, and with total

precipitation during the period from planting to setting of the first fruits. A beneficial effect of temperature on the length and width of the fruit was noted during the entire growing period. The tomato fruit formed a thicker pericarp when precipitation was more frequent.

2. Effect of cultivars:

Concerning the effect of cultivars Super Strain B and Castle Rock on fruit yield parameters of tomato plants during both seasons of study 2013, 2014 data in Tables 4 and 5 indicate that there were significant differences in number of fruits as well as yield /plant and total fruit yield/feddan, fruit length and diameter among the tested cultivars during the first season of study. On contrary, there were no significant differences for fruit weight, shape and fruit set% among the tested cultivars during the same period of study.

While in the second season 2014, there were significant differences in fruit yield /plant, total fruit yield/fed, length, diameter and % of fruit set. Adversely there were no significant differences for number of fruits/plant, fruit weight and shape, among the tested cultivars (cv. Super Strain B and cv. Castle Rock) during the second season of study.

During both seasons of study, cv. Super Strain B gave the highest values of yield /plant, total yield, length and diameter of fruit. While the cv. Castle Rock gave the lowest values for the above mentioned traits, with a significant difference among them during the two experimental seasons. Obtained results are in agreement with those reported by **seleguini (2007)**, **Naroli** *et al.*(2012), **Mahopatra** *et al.*(2013), **Reddy** *et al.*(2013) and Tiwari *et al.*(2013).

3. Effect of fertilizers level:

With regard to the effect of fertilizers level (80, 100 and 120 %) from the recommended doses on fruit yield of parameters tomato plants, data in Tables 4 and 5 indicate that there were significant differences in fruit yield/plant, total fruit yield/fed and fruit weight among the tested cultivars during the first and second seasons (2013, 2014) of the study.

On the contrary, there were no significant differences for number of fruits/plant, fruit length and diameter, between the use of 80 or 120 %) from the recommended doses, during the first season. But both of fruit shape index and fruit set% had no significant effects for all used levels of fertilizers.

At all treatments, during both seasons of study 100 % from the recommended doses gave the highest values of determined fruit yield parameters, with a significant difference among them during the two experimental seasons.

Obtained results are in agreement with those reported by **Dorais** *et al.*, (2001) **Dorais** *et al.* (2008); **Al-Ghawas and Al-Mazidi** (2004); **Chapagain and Wiesman** (2004); **Direkvandi** *et al.*(2008); **Tesfaye**

Balemi (2008); Moniruzzaman *et al.*(2009); Haque *et al.*(2011); El-Nemr *et al.* (2012) and Manoj Kumar *et al.* (2013).

Furthermore increasing nitrogen, phosphors and potassium fertilizers led to an increase in the fruit yield of tomato (Filiz and Sahriye (2010); Majid *et al.* (2010). On the other hand, Yagmur *et al.* (2004); Abdrabbo *et al.* (2005); Aujla *et al.* (2007); Ibia *et al.* (2008); Masome Hozhbryan (2013); Biswas *et al.* (2015); Zia-ul-Hassan *et al.* (2016).

4. Effect of the interaction between different locations and different cultivars:

Regarding to the interaction between different locations and different cultivars, data in Tables 4 and 5 indicate that the highest values of different fruit yield characteristics were mostly recorded by the cv. Super Strain B tomato plants cultivated under El Fayuom conditions. While the lowest values were recorded in case of El Behaira location and cv. Castel Rock.

No significant differences were noticed for fruit weight as well as fruit shape index for both cultivars (Cv. Super Strain B and Castle Rock) cultivated under El Fayuom and El Behaira locations during both seasons of the experiment.

Therefore, this experiment suggests that Ca_{2} + can effectively mitigate the deleterious effect of Na+ stress in tomato cultivation (Table 1).

5. Effect of the interaction between different locations and different fertilizers level.

Concerning to the interaction between different locations and different fertilizer levels, data in Tables 4 and 5 illustrate that the highest values of different fruit yield characteristics of tomato plant were produced by plants grown in El Fayuom location and supplemented with 100% level from the recommended doses of N.P.K. While the lowest values were recorded by El Behaira using 80% level from recommended doses of N.P.K. for both seasons of 2013, 2014.

There were significant differences in fruit yield / plant, total fruit yield/feddan as well as fruit length and diameter. No significant differences were noticed for number of fruits/plant, fruit shape index and fruit set%, for both locations (El Fayuom and El Behaira) using different levels of used fertilizers during the first season (2013). To some extent similar results were recorded with the same trend obtained by the second season 2014 of this study. Generally, at all treatments during both seasons of study adding 100 % from the recommended NPK doses to tomato plants grown under El Fayuom location gave the highest values of fruit yield parameters, as compared with the used NPK levels.

The obtained results are in agreement with **Mahmoud** *et al.* (2012) and Jayasinghe *et al.* (2016) who observed that increasing NPK levels resulted in higher growth performance in all three used tomato

varieties. Elevated NPK level did not reflect significant yield increase, implying that such additions are not necessary as they increase the cost of the production in terms of high cost incurred for fertilizer and pollution.

6. Effect of the interactions between cultivars and different used fertilizers levels.

According to the interaction between different varieties and different fertilizers levels, data in Tables 4 and 5 illustrate that the highest values of different fruit yield characteristics of tomato were gained by Super Strain B cv. plants received 100% level from the recommended N.P.K dose. While the lowest values of yield components were recorded by Castel Rock cv. Plants supplemented with 80% from the recommended N.P.K dose. Also, no significant differences were noticed among: fruit weight, fruit shape index and fruit set % for both the first and the second seasons.

Compared the use of 80% or 120 % from the recommended N.P.K dose, no obvious significant differences were mostly remarcabls.

This finding agreed with those reported by Akanbi et al. (2003), De Pascale et al. (2006), Parisi et al. (2006), Segura et al. (2006), Balemi (2008), Direkvandi et al. (2008), El-Nemr et al. (2012), Manoj Kumar et al. (2013) on tomato who found that applying nitrogen, phosphorus and potassium to tomato plants led to increase fruit yield. Moreover, Gough and Hobson (1990), Snapp and Shennan (1990), Ohta et al. (1992) revealed that reductions in yield were also observed at the highest N and K levels but this was probably due to salinity of the root zone.

7. Effect of the interaction between all different treatments:

As the effect of the interaction treatments between locations, cultivars and fertilizers levels treatments, data in Tables 4 and 5 indicate clearly that cultivation the tomato plants cv. Super Strain B in El Fayoum location combined with using 100% level from the recommended N.P.K doses exhibited the highest values of all fruit yield characteristics compared with the other interaction treatments during the two seasons. On the other hand, using cv. Castel Rock and 80% from the recommended dose treatments in El Behaira location gave the lowest values.

On the other hand, no significant effects of these interactions on: fruit weight, fruit shape index and fruit set % at both seasons (2013 and 2014) in addition to number of fruits / plant in the second season (2014).

The obtained results are confirmed by **De Pascale** *et al.* (2006) **Parisi** *et al.* (2006), **Segura** *et al.* (2006), **Balemi** (2008), **Direkvandi** *et al.* (2008) **and Manoj Kumar** *et al.* (2013) who mentioned that the tomato crop showed positive responses to the increase of the NPK nutrient solution concentration, which raised the NPK extraction, yield and number of fruits per truss. An increase of the nutrient concentration from 100 to 200% produced a slight increase of yield (less than 10%), but lowered the nutrient uptake efficiency (27% for N, 44% for P and 34% for K).

Adil *et al.* (2003) reported a shortage of tomatoes is common in summer due to high temperatures as monthly average temperatures are between 31 to 35°C. They studied the heat stress on vegetative and productive development of heat sensitive and tolerant tomato genotypes, in order to compare the growth and development of different genotypes under defined heat stress conditions (intensity and duration).

They found that reproductive processes in tomato were more sensitive to high temperatures than the vegetative ones. The number of pollen grains produced by the heat tolerant genotype were higher than the numbers produced by the heat sensitive genotypes. However, other field condition factors such as: Low relative humidity, insect and virus diseases as well as soil physical properties have also to be considered. Optimization of microclimate could be very important to ensure a good performance of new tolerant varieties cultivated in summer periods.

They also stated that the high temperature condition strongly affected the vegetative and reproductive organs and tissues of tomato plants for all cultivars.

This confirms earlier findings of Abdalla and Verkerk (1968), Abdul-Baki (1991) and Peet *et al.* (1997) who revealed the adverse effects of HS (heat stress) on the vegetative and reproductive development in tomato plants.

Effect of different locations, Cultivars, fertilizers level and their interactions on chemical fruit quality of tomato.

Data tabulated in Tables 6 and 7 illustrate the effect of different locations (El Behaira and El Fayoum), cultivars(cv. Super Strain B and Castel Rock) and fertilizer levels (80%, 100% and 120%) from the recommended NPK fertilizers, as well as their interactions on chemical fruit quality of tomato plant (Nitrogen%, Phosphorus%, Potassium%, total carbohydrates, T.S.S and total acidity) in the two seasons of 2013 and 2014.

1. Effect of different locations:

Data in Tables 6 and 7 show that there were clear significant differences in: Nitrogen%, Phosphorus%, Potassium%, total carbohydrates, TSS and total acidity among the tested different locations (El Behaira and El Fayom) during both seasons of study (2013 and 2014), with the exception of P% during the second season (2014).

During both seasons of study, El Behaira gave the highest values for all studied chemical fruit parameters. While El Fauom location gave the lowest values for the above mentioned measures, with significant differences among them during the two experimental seasons.

Such clear significant differences between the two locations and their effect on the chemical fruit quality, may be attributed to a combined macro-climatic conditions either collectively or separately, especially, relative humidity, air temperature, wind speed and soil nature and structure.

2. Effect of different cultivars:

Data in Tables 6 and 7 recorded that there were clear significant differences in: Nitrogen%, Phosphorus%, Potassium%, total carbohydrates, T.S.S. and total acidity among the tested cultivars : Super Strain B and cv. Castle Rock during the tested two seasons of study (2013 and 2014).

During both seasons of study, cv. Castle Rock gave the lowest significant values for: Nitrogen%, Phosphorus%, Potassium%, total carbohydrates, T.S.S and total acidity. While the cv. Super Strain B gave the highest values for the above mentioned measures, with a significant difference among them during the two experimental seasons.

3. Effect of fertilizers level.

With regard to the effect of fertilizers level (80, 100 and 120 %) from the recommended doses of NPK fertilizers on Nitrogen%, Phosphorus%, Potassium%, total carbohydrates, T.S.S and total acidity of tomato fruits during the tested two seasons of study (2013 and 2014), data in Tables 6 and 7 show that there were significant differences for mentioned studied fertilizer levels during both seasons of the study for all studied chemical fruit parameters except total acidity in the second season only where no significant differences for total acidity were noticed among the three used recommended levels of fertilizers. In this connection, adding 120 % from the recommended doses of N.P.K gave the highest values for all studied chemical fruit parameters during two experimental seasons (2013 and 2014). Where 80% from recommended doses of N.P.K gave the lowest significant values in this regard at both seasons.

Obtained results are in agreement with those reported by Adams (1992), Bergmann (1992), Marschner (1995), Kreij (1996) and (1999), Petersen *et al.* (1998), Auerswald *et al.* (1999), Dorais *et al.* (2001) and (2008), Oded and Uzi (2003), Chapagain and Wiesman (2004), Lin *et al.* (2004), El-Nemr *et al.* (2012).

4. Effect of the interaction between different locations and cultivars:

Regarding to the interaction between different locations and cultivars data in Tables 6 and 7, indicate that there were significant effects of both locations (El Behaira and El Fayuom) and different cultivars (Super Strain B and Castle Rock) on all chemical parameters of tomato fruits in both seasons (2013 and 2014), except N and P% in the second season as differences did not reach the 5% level of significance.

Table 6. Effect of different locations,	Cultivars, fertilizers level	l treatments and their interaction	ons on chemical
fruit quality of tomato plant in the first	season 2013.		

				• P%	К %	Total		Total	
Treatment	s			N %	Р%	К %	carbohydrate%	T S S%	acidity
							11.01	4.0.0	mg/liter
Location	EL-Beha	aira		1.31	0.94	2.14	11.81	4.93	24.78
	EL-Fayo	oum		1.12	0.85	1.65	10.16	4.71	22.16
L.S.D	C .	· • •	<u></u>	0.06	0.01	0.12	0.51	0.10	0.41
Cultivar	Super_st	train I	3	1.40	0.99	2.13	12.16	5.01	24.90
LCD	Castle R	lock		1.02	0.80	1.65	9.81	4.63	22.04
L.S.D	00 0/ 1	<u> </u>		0.06	0.01	0.12	0.51	0.10	0.41
	80 % I Doses	Recom	mended	0.86	0.86	1.48	10.24	4.52	22.49
Fertilizer	100% l Doses	Recom	mended	1.23	0.90	1.84	10.79	4.88	23.44
	120% I Doses	Recom	mended	1.55	0.94	2.36	11.92	5.07	24.46
L.S.D	Duses			0.08	0.01	0.14	0.63	0.12	0.50
	(Super	strain	1 40	1.02	2.42	12 20	5 10	2(12)
EL-Behair	a l	B		1.49	1.03	2.42	13.30	5.10	26.12
		Castle	Rock	1.13	0.85	1.86	10.32	4.76	23.45
EL-Fayou	m l	Super_ B	_strain	1.32	0.95	1.85	11.03	4.92	23.69
-		Castle	Rock	0.92	0.75	1.45	9.30	4.50	20.63
L.S.D				0.09	0.02	0.16	0.72	0.14	0.58
	8	80%		1.00	0.89	1.56	10.86	4.60	24.10
EL-Behair	a 1	100%		1.33	0.93	2.03	11.90	4.98	24.80
	1	120%		1.60	1.00	2.83	12.66	5.20	25.44
	8	80%		0.73	0.82	1.41	9.63	4.43	20.88
EL-Fayou	m 1	100%		1.13	0.86	1.64	9.68	4.77	22.10
	1	120%		1.50	0.88	1.89	11.18	4.93	23.50
L.S.D				0.11	0.02	0.20	0.89	0.17	0.71
	8	80%		1.03	0.96	1.60	11.51	4.68	24.19
Super_stra	ain B 🔤	100%		1.34	0.99	2.12	12.22	5.05	25.08
	1	120%		1.85	1.03	2.67	12.75	5.30	25.43
	8	80%		0.70	0.76	1.37	8.97	4.35	20.79
Castle Roc	k 1	100%		1.12	0.80	1.55	9.36	4.70	21.82
	1	120%		1.25	0.85	2.04	11.08	4.83	23.51
L.S.D				0.11	0.02	0.20	0.89	0.17	0.71
	Sumar a	tuain	80%	1.13	0.99	0.99	12.44	4.77	25.54
	Super_s	ıram	100%	1.45	1.02	1.02	13.31	5.10	26.32
EL-	D		120%	1.87	1.08	1.08	14.14	5.43	26.49
Behaira			80%	0.87	0.80	0.80	9.28	4.43	22.66
	Castle R	lock	100%	1.20	0.85	0.85	10.49	4.87	23.28
			120%	1.32	0.92	0.92	11.18	4.97	24.39
	Supar a	train	80%	0.92	0.92	0.92	10.59	4.60	22.85
	B B	ualli	100%	1.22	0.96	0.96	11.12	5.00	23.85
EL-	U		120%	1.83	0.98	0.98	11.37	5.17	24.37
Fayoum			80%	0.53	0.72	0.72	8.67	4.27	18.91
	Castle R	lock	100%	1.04	0.75	0.75	8.23	4.53	20.35
			120%	1.18	0.78	0.78	10.99	4.70	22.63
L.S.D				0.15	0.03	0.29	1.25	0.25	1.01

** mean :non-significant .

Table 7. Effect of different locations, Cult	ivars, fertilizers leve	el treatments and their int	teractions on chemical fruit
quality of tomato plant in the second sease	on 2014.		

Trootmonts							Total	тѕ	Total
Treatments	5			N %	Р%	К %	carbohydrate%	S%	acidity
	EL Do	haira		1 1 /	0.73	1.50	10.72	4 70	mg/liter
Location	EL-Del			1.14	0.73	1.50	10.72	4.70	<u>20.91</u> 17.03
LSD	LL-I a	youiii		0.93	**0.02	0.11	0.49	0.11	1.03
L.5.D	Super	strain B		1.18	0.81	1.65	11.12	4.80	21.03
Cultivar	Castle	Rock		0.91	0.65	1.02	9.66	4.33	17.44
L.S.D	Cubiic	ROCK		0.07	0.02	0.11	0.49	0.11	1.03
	80 % Doses	Recor	nmended	0.86	0.68	1.15	9.55	4.24	18.27
Fertilizer	100% Doses	Recor	nmended	1.04	0.75	1.31	10.39	4.63	19.49
	120% Doses	Recor	nmended	1.23	0.76	1.58	11.24	4.83	20.50
L.S.D				0.09	0.02	0.13	0.59	0.14	**1.26
EL-Behairs	4	Super_	strain B	1.36	0.81	2.02	11.58	4.93	22.03
	•	Castle	Rock	0.92	0.66	0.98	9.85	4.47	19.80
EL-Favour	n	Super_	strain B	0.99	0.81	1.27	10.67	4.67	20.78
		Castle	Rock	0.90	0.64	1.10	9.47	4.20	15.08
L.S.D		000/		*0.10	**0.03	0.15	0.69	0.16	1.46
		80%	80%		0.68	1.27	9.82	4.37	20.11
EL-Behaira	a	100%		1.16	0.76	1.40	10.94	4.73	20.78
		120%		1.37	0.76	1.84	11.39	5.00	21.84
		80%		0.83	0.67	1.04	9.28	4.12	16.44
EL-Fayour	n	100%		0.93	0.75	1.21	9.84	4.53	18.19
LCD		120%		1.08	0.75	1.31	11.09	4.65	19.17
L.S.D		000/		0.13	0.03	0.19	0.84	0.20	**1.79
G (• •	80%		0.95	0.73	1.40	10.60	4.47	19.79
Super_stra	in B	100%		1.14	0.86	1.54	10.91	4.85	21.76
		120%		1.44	0.84	2.00	11.86	5.08	22.67
		80%		0.78	0.63	0.91	8.50	4.02	16.76
Castle Roci	K	100%		0.94	0.64	1.07	9.87	4.42	17.22
LCD		120%		1.01	0.67	1.15	10.62	4.57	18.33
L.5.D			000/	0.15	0.05	0.19	0.84	0.20	**1./9
	Super_	strain		1.05	0.72	1.01	10.92	4.03	20.75
T	B			1.31	0.80	1.83	11.34	4.93	22.27
EL- Doboimo				1.72	0.64	2.02	<u>12.4/</u> 9.72	5.25	23.00
Denana	Castla	Daala		1.00	0.04	0.95	<u>8.73</u>	4.10	19.47
	Castle	KOCK		1.00	0.05	0.90	10.55	4.55	19.29
			120% 200/	1.02	0.00	1.00	10.30	4.//	20.02
	Super_	strain	0070	0.04	0.74	1.20	10.20	4.30	10.02
БI	В			0.90	0.82	1.24	10.47	4.//	21.24
EL- Favoum			14070 800/-	1.10 A 91	0.03	1.30	8 27	3.02	14.05
rayoum	Castle	Rock	100/	0.01	0.01	1 19	0.27	<u> </u>	14.03
	Casue	NULÄ	120%	1.00	0.03	1.10	<u> </u>	4.30	16.04
ISD			140/0	<u> </u>	0.07	0.26	1 10	0.29	2 53
L.O.D				0.10	0.03	0.40	1.17	0.40	4.33

** mean :non significant.

The highest values for Nitrogen%, Phosphorus%, Potassium%, total carbohydrates, T.S.S and total acidity were obtained by planting cv. Super Strain B in El Behaira. While the lowest values were recorded by El Fayuom using Castle Rock cultivar. The cultivar Castle Rock planted in the two locations didn't appear any significant differences in N% as well as P% at the second season (2014)

The highest values for: Nitrogen%, Phosphorus%, Potassium%, total carbohydrates, T.S.S and total

acidity) during the tested two seasons of study (2013 and 2014) were obtained by planting cv. Super Strain B in El Behaira. While the lowest values were recorded by El Fayuom and Castel Rock. Referring the different nature of both locations of El Behaira and El Fayuom through many factors such as soil type, soil contracture, rainfall, relative humidity, sun shine hours and temperature degrees which may lead to remarkable differences in all chemical fruit parameters.

5. Effect of the interaction between different locations and fertilizers levels.

Concerning to the interaction between different locations and used fertilizer levels (80%, 100% and 120% of the recommended dose of N.P.K), data in Tables (6 and 7) illustrate that the highest values were received by El Behaira and 120 % from the recommended applied doses of N.P.K fertilizers. While the lowest values were recorded by El Fayuom location and 80% from the recommended doses of N.P.K. for both seasons 2013, 2014.

No significant differences were noticed for N% by the recommended doses (120%) for either El Fayuom or El Behaira at the first season (2013). But in the second one (2014), no significant differences were noticed for N% by using the recommended doses (80 %) for either El Fayuom or El Behaira.

Whereas no significant differences were noticed for P% by using the recommended fertilizers doses (100% or 120%) for El Fayuom location at the first season (2013) and between El Fayuom and El Behaira during the second season (2014).

Results indicate also high significant differences for K%, total carbohydrates and T.S.S by using the recommended doses of (80%, 100% and 120% N.P.K), for either El Fayuom or El Behaira at the first season (2013).

Total acidity was slightly affected in El Behaira but strongly affected in El Fayuom location by using the recommended doses of (80%, 100% and 120% N.P.K) (Table 6). Other results in Table (7) indicate non significant differences for Total acidity, which were noticed by using the recommended doses of (80%, 100% and 120% N.P.K), for either El Fayuom or El Behaira each alone at the second season (2014).

T.S.S. were strongly effected and gave significant differences by using the recommended doses of (80%, and 120% N.P.K) for either El Fayuom or El Behaira at the second season (2014). On the contrary, using the recommended doses of (100%) of N.P.K did not greatly affect T.S.S either at El Fayuom or El Behaira. There was a slightly differences between the uses of recommended doses of (100% or 120% N.P.K). So, logically, the researchers prefer to use 100% of recommended doses of N.P.K fertilizers than used 120%, to minimize the cost and the harmful effects causes' illness.

6. Effect of the interactions between cultivars and different used fertilizer levels:

According to the interaction between different cultivars and the recommended fertilizers used doses (80%, 100% and 120% of N.P.K), data in Tables 6 and 7 illustrate that the highest values for the chemical fruit properties of tomato plants (Nitrogen%, Phosphorus%, Potassium%, total carbohydrates, T.S.S and total acidity), during the tested two seasons of study (2013 and 2014) were received by Super Strain B cultivar combined with and 120% from the recommended NPK used doses. While the lowest values were recorded by Castle Rock and 80% from the recommended dose for N.P.K treatments.

All the interactions between the cultivars Super Strain B and Castle Rock and different used fertilizers levels gave significant results as shown by tables 6 and 7.

Total carbohydrate (g) was 12.75 (the highest value) was recorded by use Super Strain B and 120% of NPK recommended dose, but there was no significant differences between this level and the used level of 100% of the recommended NPK dose. The lowest values of total carbohydrate was recorded by using Castle Rock and 80% of the NPK recommended dose.

Generally chemical fruit quality (T.S.S and total acidity) were affected by both of used cultivars (Super Strain B and Castle Rock) or the used of different recommended levels of NPK. The highest values of both T.S.S and total acidity: 5.30 and 25.43 were recorded by using Super Strain B and 120% of recommended NPK level. No significant differences were noticed when used 100% of recommended NPK dose. On the contrary the Castle Rock showed the lowest values by using 80% of the recommended NPK dose.

Data show that the N% and P% on fruit chemical quality were significantly affected by using cultivars or even using recommended fertilizers level (for the year 2014). The highest figures was 1.44% N recorded by Super Strain B and 120% from the recommended NPK dose.

While the highest figures For P % was 0.67 % recorded by Castle Rock and 120% from the recommended NPK dose. While the lowest was recorded by using the Castle Rock and 80% of the recommended NPK dose, for both of N% and P%.

Regard to the K%, the highest value was 2.00 % recorded by using Super Strain B which fertilized by 120% of the NPK recommended dose. On contrary, the Castle Rock which fertilized by 80% of the recommended NPK dose gave the lowest value for K% (0.91 %).

Total carbohydrate (g) was 11.86 (the highest value) was recorded by use Super Strain B and 120% of NPK recommended dose. The lowest values of total carbohydrate (8.50g) was recorded by using Castle Rock and 80% of the NPK recommended dose.

Generally chemical fruit quality (T.S.S and total acidity) were affected by both of used cultivars (Super Strain B and Castle Rock) or the used of different recommended levels of NPK. The highest values of both T.S.S and total acidity: 5.08 and 22.67 were recorded by using Super Strain B and 120% recommended NPK level. No significant difference compared with the aforementioned were noticed when used 100% of recommended NPK dose with the Castle Rock varity. The Castle Rock give the lowest values by using 80% of the recommended NPK dose. **7. Effect of the interaction between all different treatments:**

As the effects of the interactions between all used treatments on chemical fruit quality of tomato plant (Nitrogen%, Phosphorus%, Potassium%, total carbohydrates, T.S.S and total acidity) in the two seasons of 2013 and 2014 data in Tables 6 and 7 indicate clearly that cultivating the tomato plants in El Behaira by using cv. Super Strain B and 120 % from the recommended NPK doses exhibited the highest values of all of chemical fruit properties of tomato plants (Nitrogen%, Phosphorus%, Potassium%, total carbohydrates, T.S.S and total acidity, compared with the other interaction treatments during the two seasons. On the contrary, using Cv. Castle Rock and 80% from the recommended NPK dose treatments in El Fayoum location gave the lowest values.

The obtained results are in agreement with Abdalla and Verkerk (1968), Abdul-Baki (1991), Peet *et al.* (1997), Adil *et al* (2003), De Pascale *et al.* (2006), Parisi *et al.* (2006) and Manoj Kumar *et al.* (2013)

References

- Abdalla, A. A. and Verkerk, K. (1968). Growth, flowering and fruit set of the tomato at high temperature. Neth. J. Agr. Sci. 16: 71-76.
- Abdrabbo, M.A.A, M.A. Medany, E.M. Abd El-Moniem .2005. Fertigation Management of cucumber plants under plastic Houses. Egypt. J. Vol.32,pp. 1-13.
- Abdul-Baki, A. A. (1991). Tolerance of tomato cultivars and selected germplasm to heat stress. J. Amer. Soc. Hort. Sci. 116(6): 1113-1116.
- Adams, P., 1992. Crop nutrition in hydroponics. Acta Hort., 323: 289-305.
- Adil H. Abdelmageed , Nazim Grudab, Bernd Geyer 2003, Effect of High Temperature and Heat Shock on Tomato (Lycopersicon esculentum Mill.) University of Khartoum, Department of Horticulture, Sudan b Humboldt-Universität zu Berlin, Institute for Horticultural Science, Department of Vegetable Crops, Lentzeallee 75,14195 Berlin, Germany. Email: nazim.gruda@ rz.hu-berlin.
- Akanbi, W. B.; R. Dris and A. O. Togun(2003). Influence of compost and nitrogen fertilizer on growth, nutrient uptake and fruit yield of

tomato (Lycopersiconesculentum). Crop Res., 26: 98-105.

- Al-Ghawas S. A. and A. K. Al-Mazidi, (2004). Influence of fertigation frequency on the yield of some vegetables cultivated in sand culture. Acta Hort. 644: 485-492.
- A. O. A. C. 1984. Official methods of analysis of the association of official analytical chemists, Virginia, U.S.A.
- **A.O. A. C. 1990.** Association of Official Analytical Chemist official methods of analysis, 15th Ed.; Inc. Arlington, Virginia 22201, USA.
- Auerswald, H., D. Schwarz, C. Kornelson, A. Krumbein and B. Brückner, 1999. Sensory analysis, sugar and acid content of tomato at different EC values of the nutrient solution. Sci. Hort., 82: 227-242.
- Aujla, M. S., Thind, H. S. &Buttar, G. S. (2007). Fruit yield and water use efficiency of eggplant (SolanummelongenaL.) as influenced by different quantities of nitrogen and water applied through drip and furrow irrigation. ScientiaHortic., 112, 142-148.
- **Balemi, T. 2008.**Response of tomato cultivars differing in growth habit to nitrogen and phosphorus fertilizers and spacing on vertisol in Ethiopia.ActaAgriculturaeSlovenica, 91 (1): 103-119.
- Bergmann, W., 1992. In Nutritional disorders of plants: Development, visual and analytical diagnosis, Causes, development and diagnosis of symptoms resulting from mineral. Macronutrients: Potassium, ed Bergmann W. (Gustav Fischer, Jena, Germany), pp: 117-132.
- Biswas.M , D. R. Sarkar, M. I. Asif, R. K. Sikder, H. Mehraj and A. F. M. Jamal Uddin.2015. Nitrogen Levels on Morphological and Yield Response of BARI Tomato-9. J. Sci. Technol. Environ. Inform. Volume 01, Issue 02, Article No. 8, pp.68-74.
- Chapagain, B. P. and Z. Wiesman (2004).Effect of potassium magnesium chloride in the fertigationsolution as partial source of potassium on growth, yield and quality of greenhouse tomato.Sci. Hort. 99:279–288.
- Chapagain, B. P. and Z. Wiesman (2004).Effect of potassium magnesium chloride in the fertigationsolution as partial source of potassium on growth, yield and quality of greenhouse tomato.Sci. Hort. 99:279–288.
- De Pascale, S., Tamburrino, R., Maggio, A., Barbieri, G., Fogliano, V. & Pernice, R. (2006).Effect of nitrogen fertilization on the nutritional value of organically and conventionally grown tomatoes.Acta Hort., 700, 107-110.
- Direkvandi, S. N.; N. A. Ansari and F. S. Dehcordie (2008).Effect of different levels of nitrogen fertilizer with two types of biofertilizers on growth and yield of two cultivars of tomato (Lycopersicon

*esculentum*Mill).Asian Journal of Plant sciences, 7(8): 757-761.

- Dorais, M., A.P. Papadopoulos and A. Gosselin, 2001. Greenhouse tomato fruit quality. Hort. Rev. (Amer. Soc. Hort. Sci.) 26: 239-319.
- **Dorais, M., D.L. Ehret and A.P. Papadopoulos, 2008.** Tomato (Solanum lycopersicum) health components: From the seed to the consumer. Phytochem. Rev., 7: 231-250.
- El-Nemr, M.A., M.M.H. Abd El-Baky, S.R. Salman and W.A. El-Tohamy.2012. Effect of Different Potassium Levels on the Growth, Yield and Quality of Tomato Grown In Sand-Ponic Culture. Australian Journal of Basic and Applied Sciences, 6(3): 779-784, ISSN 1991-8178.
- Elżbieta JĘDRSZCZYK, Barbara SKOWERA, Maria GAWĘDA, Andrzej LIBIK. 2016. THE EFFECT OF TEMPERATURE AND PRECIPITATION CONDITIONS ON THE GROWTH AND DEVELOPMENT DYNAMICS OF FIVE CULTIVARS OF PROCESSING TOMATO, Journal of Horticultural Research 2016, vol. 24(1): 63-72.
- Filiz Öktüren Asri and Sahriye Sönmez, 2010. Reflection of different applications of potassium and iron fertilization on tomato yield and fruit quality in soilless medium. Journal of Food, Agriculture & Environment, 8(3&4): 426-429.
- Fisher, A. and C. Richter (1984). Influence of organic and mineral fertilizers on yield and quality of potatoes, the fifth IFOAM International Scientific Conference at the University of Kassel, Germany: 37.
- **Gough, C. and Hobson, G.E., (1990).** A comparison of the productivity, quality, shelf-life characteristics and consumer reaction to the crop from cherry tomato plants grown at different levels of salinity. Journal of Horticultural Science 65(4), 431-439.
- Haque, M. E.; Paul, A. K.; Sarker, J. R. 2011.Effect of Nitrogen and Boron on the Growth and Yield of Tomato (Lycopersiconesculentum M.).International Journal of Bio-Resource & Stress Management. Vol. 2 . 277- 289.
- Hsieh., C.F., H.C. Fang, K. Nan and K.N. Hsu. 1996. Effect of continuous use of organic manures on the growth and yield of vegetable soybean' and cabbage. Bull Taichung Dist. AgricImprove Sta.Japan. 46: 1-10.
- Ibia, T. O.; E. Antiaobong; A. D. Usoroh and I. D. Edem(2008). Response of tomato to nitrogen and potassium fertilization in wetland soils in Akwa Ibom State. Research J. of Agronomy, 2 (4): 107-111.
 - **IPCC,** (2007 a). Climate Change 2007: The Scientific Basis, Summary of Policymakers-Contribution of Working Group I to the IPCC Fourth Assessment Report 2007.
- Jayasinghe, H. A. S. L. ; Alwis L. M. H. R. and Gunadasa, H. K. S. G. (2016). Effect of Different

NPK Levels on the Growth and Yield of Three Tomato (Solanum lycopersicum) Varieties in Sri Lanka Asian Research Journal of Agriculture. 2(1): 1-6.

- Khursheda Parvin, Kamal ;Uddin Ahamed, ; Mohammad Mahbub Islam, Nazmul Haque, Pretom Kumar Hore, Abubakar Siddik and Indrajit Roy,2015. Reproductive Behavior of Tomato Plant under SalineCondition with Exogenous Application of Calcium. Middle-East Journal of Scientific Research 23 (12): 2920-2926.
- Kreij, C. de., 1996. Interactive effects of air humidity, calcium and phosphate on blossom-end rot, leaf deformation, production and nutrient contents of tomato. Journal of Plant Nutrition, 19: 361-377.
- Kreij, C. de., 1999. Production, blossom-end rot, and cation uptake of sweet pepper as affected by sodium, cation ratio, and EC of the nutrient solution. Gartenbauwissenschaft, 64: 158-164.
- Lin Duo., H. Danfeng and W. Shiping, 2004. Effects of potassium levels on fruit quality of muskmelon in soiless medium culture. Scientia Horticulturae, 102: 53-60.
- Mahapatra, A.S., A.K. Singh, V.M. Vani, R. Mishra (2013). Inter-relationship for various components and path coefficient analysis in tomato (Lycopersicon esculentum Mill.). Int. J. Curr. Microbiol. 2: 147-152.
- Mahmoud A. ; WAHB-ALLAH AND ABDULRASOUL M. AL-OMRAN 2012 ; EFFECT OF WATER QUALITY AND DEFICIT IRRIGATION ON TOMATO GROWTH, YIELD AND WATER USE EFFICIENCY AT DIFFERENT DEVELOPMENTAL STAGES J.Agric.&Env.Sci.Dam.Univ.,Egypt . 11 (2): 80-110
- Majid, F., M. Jalal and H. Munir, 2010. Effect of N, P, K concentrations on yield and fruit quality of tomato (*Solanum Lycopersicum* L.) in tuff culture. Journal of Central European Agriculture, 11(2): 179-184.
- Manoj Kumar, M.L. Meena, Sanjay Kumar, Sutanu Maji and Devendra Kumar.2013. Effect of nitrogen, phosphorus and potassium fertilizers on the growth, yield and quality of tomato var. Azad T-6. THEASIAN JOURNAL OF HORTICULTURE Volume 8. pp 616-619.
- Marschner, H., 1995. Mineral nutrition of higher plants (Academic Press, San Diego, CA), 2nd Ed, pp: 299- 312.
- Masome Hozhbryan.2013. Effects of different levels of urea on the growth and yield of tomato.Journal of Novel Applied Sciences.1031-1035.
- Moniruzzaman, M., Islam, M. S., Hossain, M. M., Hossain, T. & Miah, M. G. (2009). Effects of Shade and Nitrogen Levels on Quality Bngladhonia Production. Bangladesh, J. Agril. Res., 34(2), 205-213.
- Moore,E.L. and W.Thomas (1952). Some effects of shading and parachloro-phenoxy acetic acid on

fruit fullness of tomatoes. Proc. Am. Soc. Hortscience, 60:289-294.

- Narolia, K.N., R. Reddy and M. Sujatha (2012). Genetic architecture of yield and quality in tomato (Solanum lycopersicum). Agric. Sci. Dig 32: 281-285.
- Oded, A. and K. Uzi, 2003. Enhanced performance of processing tomatoes by potassium nitrate based nutrition. Acta Hort., 613: 81-87.
- Ohta, K., Ito, N., Hosoki, T. and Higashimura, H (1992): Influence of concentration of nutrient solution and salt supplement on quality and yield of cherry tomato grown hydroponically Society for. Journal of the Japanese Horticultural Science 60, 1 (Abstr).
- Parisi, M.; I. Giordano; A. Pentangelo; B. Donofrio and G. Villari. 2006. Effect of different levels of nitrogen fertilization on yield and fruit quality in processing tomato. ActaHortic., 700: 129-132.
- Peet, M.M., Willits, D. H., and Gardner, R. (1997). Response of ovule development and postpollen production processes in male-sterile tomatoes to chronic, sub-acute high temperature stress. J. Experimental Botany. 48 (306): 101-111.
- Petersen, K.K., J. Willumsen and K. Kaack, 1998. Composition and taste of tomatoes as affected by increased salinity and different salinity source. J. Hort. Sci., 3: 205-215.
- Reddy, B. R., M.P. Reddy, H. Begum and N. Sunil (2013). Cause and effect relationship for yield and shelf life attributes in exotic lines of tomato (Solanum lycopersicum L.). IOSR-JAVS 4: 53-55.
- Salar Khan Yousafzai, Shah Masaud Khan, Khalil ur Rehman , Junaid Khan, Sher Aslam Khan, Ijaz Hussain and Ishrat Naz 2016. RESPONSE OF TOMATO CULTIVARS TO DIFFERENT ORGANICFERTILIZERS UNDER AGRO-CLIMATIC CONDITIONS OF MINGORA, SWAT, Pakistan J. Agric. Res. Vol. 29 No.1, 2016 ,60.
- Segura, L., Contreras, J.I. and Galindo, P. 2006. Response of greenhouse tomato crop to NPK fertilization and quality of irrigation water. Acta Hort. (ISHS) 747:485-488.

- Seleguini, A. (2007). Uso de paclobutrazol na produção de mudas, no crescimento, produção e qualidade de frutos de tomateiro em ambiente protegido. Doctoral thesis, Universidade Estadual Paulista, Ilha Solteira. Available at [http://acervodigital.unesp.br/handle/unesp/158905?loca le=es_ES].
- Snapp, S and Shennan, C. (1990).Tomato fruit quality and ions status: The effects of salinity phytophthora root rot and genotype. Hort. Sci. 25(9), 601.
- Snedecor, G. M. and W. G. Cochran. 1980. Statistical methods, Sixth Edition, Lowa State Univ. Press, Amer. Lowa, USA.
- Suszyna J., 2006. Wpływ ekstremalnych warunków wilgotnościowych na plonowanie pomidora w uprawie polowej. [Influence of extreme moisture conditions on yielding of tomato in field cultivation]. Folia Hort. Suplement, 2, 181–185 [in Polish].
- **Tesfaye BALEMI.2008.** Response of tomato cultivars differing in growth habit to nitrogen and phosphorus fertilizers and spacing on vertisol in Ethiopia.ActaagriculturaeSlovenica, 91 1, 103 119.
- Tiwari, J. K., A.K. Tiwari and N. Mehta (2013). Selection strategies for fruit yield in tomato (Solanum lycopersicum L.). Int. J. Veg. Sci. 40: 23-27.
- Went, F.W., 1945. Plant growth under controlled condition. II. Thermo periodicity in growth and fruit of tomato. American J. Botany. 31: 135-150.
- Yagmur, B., B. Okur and A. R. Ongun (2004). Effects on Enhanced Potassium Doses on Yield, Quality and Nutrient Uptake of Tomato. IPI regional workshop on Potassium and Fertigation development in West Asia and North Africa; Rabat, Morocco: 24-28.
- Zia-ul-Hassan, K.A. Kubar, M.A. Chhajro, M.N. Kandhro, G.M. Jamro, K.H. Talpur, and N. Talpur.2016. Response of Tomato (Lycopersiconesculentum L.) at Varying Levels of Soil Applied Potassium.Journal of Basic & Applied Sciences.198-201.

الملخص العربى

تجربتين حقليتين تم القيام بهم خلال موسمين صيفيين متتاليين ٢٠١٣ و٢٠١٤ في البوصيلي (محافظه البحيره) والفيوم لدراسه النمو والانتاجيه لصنفين طماطم تحت ظروف مناخيه مختلفه وكذلك بأستخدام مستويات تسميد مختلفه وقد كان تصميم التجربه قطع منشقه عشوائيه حيث تم ترتيب المواقع قطعه رئيسيه وتم ترتيب اصناف الطماطم كقطع تحت فرعيه وتم ترتيب مستويات التسميد المختلفه كقطع تحت فرعيه.وقد اوضحت النتائج بأن نباتات الطماطم صنف السوبر استرين بي في الفيوم والتي تم استخدام مستوى تسميدى ١٠٠ % من المعدلات الموصى بها من NPK النتائج بأن نباتات الطماطم صنف السوبر استرين بي في الفيوم والتي تم استخدام مستوى تسميدى ١٠٠ % من المعدلات الموصى بها من NPK الظهرت اعلى محصول خلال موسمي الزراعه معبر عنها بعدد الثمار / نبات وعدد الثمار /نبات والمحصول/ الفدان وكذلك وزن وطول وقطروشكل الثماروكذلك نسبه عقد الثمار . ومن جهه اخري فأن استخدام كاسل روك ومعدل التسميد ١٠٠ % من المعدلات الموصى بها في محافظه البحيره اعطى اقل قيم.كما اظهرت النتائج بوضوح ايضا ان الطماطم المنزرعه بالبحيره بأستخدام صنف سوبر استرين بي ومستوى تسميد ١٢٠ % من النسبه الموصى بها من السماد على الموسى علي الما مالم المازرعه بالبحيره بأستخدام صنف سوبر استرين بي ومستوى تسميد مراد الالاتاري ومن جهه اخري فأن استخدام كاسل روك ومعدل التسميد ١٠٨ من المعدلات السماديه الموصى بها في محافظه البحيره اعطى اقل قيم.كما اظهرت النتائج بوضوح ايضا ان الطماطم المنزرعه بالبحيره بأستخدام صنف سوبر استرين بي ومستوى تسميد ١٢٠ من النسبه الموصى بها من السماد NPK اظهرت اعلى قيم خصائص جوده معبر عنها بالنسبه المئويه للنيتروجين والفوسفور والبوتاسيوم وكميه الكربوهيدرات كليه ومواد صلبه ذائبه كليه وكذلك الحموضه الكليه وذلك خلال موسمي الزراعه. ومن جهه اخرى فأن صنف الكاس روك ومستوى